
        BALUSTRADE  
           Assembling   PROCEDURE 

Design X-line 



System 850 

Kit 50 x5 with sliding: 

  
 Rail  clip  

Kit 50 x5 with sliding: 

  
 Glass Spider  

Kit 50 x5 with sliding: 

  
Glass clip 

New 

System  



Kit 50 x5 with sliding :  Rail clip 

System 850 

Step 1 
Necessary Materials for the 

installation of kit 50 x 50 

with sliding   



Kit 50 x5 with sliding: Rail clip 

System 850 

Step 1 
Disassemble the “ gun head” by 

taking off the two screws M6x14 

DIN 7991, leave the upper side 

on the sliding lamas open. 



Kit 50 x5 with sliding: Rail clip 

System 850 

Step  2 
The accessories Code Nr. 

10/52 are inserted in the 

sliding lama  

(as many as needed)    



Kit 50 x5 with sliding: Rail clip 

System 850 

Step  3 
The accessories Code Nr. 

10/52 are divided on the 

high of the kit in equal 

space by each other and 

these accessories are being 

fixed at the frontal part of 

the accessories Code Nr. 

97/01 + 97/03 using screw 

M5x20, DIN 7991. 

Afterwards it is fixed the 

second part with screws 

M5x 8 , DIN 916. 



Kit 50 x5 with sliding: Rail clip 

System 850 

Final Product 



Kit 50 x5 with sliding: Glass clip 

 

System 850 

Step 1 
Disassemble the “ 

gun head” by taking 

off the two screws 

M6x14 DIN 7991, 

leave the upper side 

on the sliding lamas 

open. 



System 850 

Kit 50 x5 with sliding: Glass clip 

Step 2 
The accessories Code Nr. 

10/52 are inserted in the 

sliding lama ( as many as 

needed)    



The accessories Code Nr. 

10/52 are placed in two 

points (hights) where the 

glass clips are being fixed 

Code Nr. 10/52  

System 850 

Kit 50 x5 with sliding : Glass clip 

 

Step 3 



System 850 

Kit 50 x5 with sliding: Glass Spider/H 

 

Step 1 
Necessary Materials for the 

installation of kit 50 x 50 

with sliding glass spider   



System 850 
Kit 50 x5 with sliding : Glass Spider/H 

 

Step  1 
Disassemble the “ gun head” by 

taking off the two screws M6x14 

DIN 7991, leave the upper side 

on the sliding lamas open 



System 850 

Kit 50 x5 with sliding: Glass Spider/H 

 

Step 2 



System 850 

Kit 50 x5 with sliding: Glass Spider/H 

 

Step 3 


